
Total No. of Questions - 9] 
(2062)

[Total Pages : 7

9809
M.Com. (Hird Semester) Examination 

ADVANCED COST ACCOUNTING
Paper: MC-3.2

Time : Three Hours] [Maximum Marks: 80

The candidates shall limit their answers precisely within the 
answer-book (40 pages) issued to them and no supplementary/ 
continuation sheet will be issued.
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Note : There are nine questions in all. Question No. 1 is compulsory 

consisting of ten questions of two marks each. The student 

is required to attempt one question from each unit carries 

fifteen marks each.
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Compulsory Question 
(3jfW4 ^T)

1. Define the following in brief:

(i) Period cost.

(ii) Fringe cost.

(iii) Economic order quantity.

(iv) Apportionment of Overheads.

(v) How to treat hospital costing?

(vi) Bin Card.

(vii) What is equivalent production?

(viii) What is inter process profit?

(ix) Profit of contract.

(x) How to use incentive plans?

(i) srafa dHtd I

(ii) SFpFft W I

(iii) 3TI^T mRh|U| I

(iv) dMftapif ^1 3TfW3H I

(v) st'Wdicn eiFFT ■pftirfr’T iw Wrt *tht

(vi)
(vii) ^JT t?

(viii) STxf: RflFJT WT W t?

(ix) SFppj cITR I

(x) 41'sHl3jf =FT
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UNIT-I

2. Cost accounting assists : (a) in Controlling efficiency; (b) in 
pricing products; and (c) in providing a basis for operating policy. 
Amplify these points, giving reasons for your views.
cIFRT <^1*4 (^) WIT if; (73)

faqfal if; W CH) 3T^FT Hffil 3TTW TO 3

WTO ^TT f I Wt m

3. You have been asked to design a system of cost accounting for 
installation in a factory. Describe the essentials that should be 
considered before you design such a system.
3TTTOt 3 TOTOR TORT Ad<=H TO TO TOI

fW tTOJ TOT TO 11 TOT fe'JlISd TO^ Tt 

3llM*l fTO TOTOTO TOff JcNI< TOTO 4-1*1 offa

UNIT-II 

(W^-II)

4. The total overhead expenses of a factory are Rs. 4,46,380. 
Taking into account the normal working of the factory, overhead 
was recovered in production at Rs. 1.25 per hour. The actual 
hours worked were 2,93,104. How would you proceed to close 
the books of accounts, assuming that besides 7,800 units produced 
of which 7,000 were sold, there were 200 equivalent units in
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work in progress? On investigation, it was found that 50% of 
the unabsorbed overhead was on account of increase in the 
cost of indirect materials and indirect labor and the remaining 
50% was due to factory inefficiency. Also give the profit 
implication of the method suggested.

R>T 7^4 ■?. 4,46,380 11

'Sjfa’ipf ■?. 1.25 3rfa 3 7Bft I ^R$

cHWRlch 2,93,104 4 I m fa BcMlfed 7,800

$■*!<< 7,000 TRff, ^Rt ^Ff 3 200

W1 «ff, 3JH *l4=ll^ faRJ
Mchit. chW ? IR chi’} RT RF HI’MI 4l4l f$» 3T5RT^ ’HIhRJ’MT 3fR 

3T5IRT8} 5R cfrt RfFRI % WI 3JWftfad 39^^ 50% 

«n sfh VtR 50% cfrt qy ।

TRft fafa WJ faf^TRf WR ।

5. Discuss in detail ‘Perpetual Inventory System’.

UNIT-III 
(^if-III)

6. Indicate the reasons why it is necessary for the cost and financial 

accounts organization to be reconciled and explain the main 

sources of difference, which would enter into such reconciliation.
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ebl<ul Mdl^R W dlJld T^sTT ■Hdddl ^HIMM^d

fFn ^tf aww t sfk fafMH t^est ^tnf ^r ^pfa
ftp# 7TRT W 3 7^71 ^FHT MlfeX I

7. In a manufacturing process, the following standards apply : 

Standard prices : Raw Material A Rs. 10 per kg, Raw Material 

B Rs. 50 per kg

Standard mix : 75% A and 25% B [by weight]

Standard output [weight of product as a percentage of weight 

of raw material] 90%.

In a particular period actual cost, usages and output were as 

follows :

4400 kg of A costing Rs. 46,500,

1600 kg of B costing Rs. 78,500.

Output 5670 kg of product.

The budgeted output for the period was 7200 kg.

Calculate Material cost variances.

Wrft fWfWnr yrftF^r PiHfWd ■rfpf t :

4H4> ’Jy’T : ‘RR'! A T. 10 Vfa f^HT, WI B

■?. so Trfir f^nrr

W fa* : 75% A W 25% B (*IR

W! (4r^t W $7 VfR ^7 TfWd ^7

*TR) 90%.

feph 3jcrf%r 3 ?1PH, ■STTriT ?T«n

IdHcld $ :
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4400 fen a w ■?. 46^00, 

1600 fell B TrfFTcT 7>. 78,500.

5670 fen I 

sfel «W<fd 4<MI<d 7200 fen «H I 

wt WRT-3HR W fefe I

UNIT-IV

(wf-iv)

8. How process costs are determined under weighted average 

method? Mention the difference between the First In First Out 

method with regards to process cost and valuation of closing 

stock.

fen fen ffe win fnfen fen nnm 

fen nfmT t? Tlfen W W srffe feF TJyfeFT

3 fe pT 3TT3Z ffe 3RR nfesT

9. Prepare a Statement of Equivalent Production, Cost Statements, 

6 Statement of Valuation and Process Account from the following 

particulars using First In First Out Method :

A. Opening work in progress : 900 units @ Rs. 4,500; degree 

of completion : material 100%; labor and overheads : 60%. 
98
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B. Input of materials : 9100 units @ Rs. 27,300; expenses : 
labor Rs. 12,300; overheads : Rs. 8,200.

C. Finished units transferred to next process : 7,800.
D. Normal scrap : 10% of input; scrap realization @ Rs. 3 

per unit.
E. Units scrapped : 1,200 units; degree of completion : 

material 100%; labor and overheads : 70%.
F. Closing work in progress : 1000 units; degree of 

completion : material 100%; labor and overheads : 80%.
W 3TRZ fafa RT WTF1 PjHfeifeld

3 3RT^T RT fWI, W RI

fRRR W RfsFRT fFit :
(R) RRf’RR Rift RFf : 900 W 4,500 Rt 3; 

7RRH Rt RR : RRlft 100%; W FR : 60%.

(H) RRlft RT : 9100 ^RT?R 27300 Rt 3; 

^FI : SR K 12300; IRftHR : 8,200.

(71) 3RFft RfsTRT 3RrfR ^Rl^R : 7,800.

(R) RRTR ^R : RT 10%; 7$R 3 Ufcl

Rt $l

(T) ^R TRt : 1,200 WH; 7RFR RT : 

RRTjf 100%; SR W 49^4 : 70%.

(R) srfaR ^nft ^Ff : 1000 ?wn; ■HRTR RHT : RRlft 

100%; SR bc( dMftoiR : 80%.
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